
ICS Part 2 Computer Science Online Test

Sr Questions Answers Choice

1 Conditional operator takes:
A. Three operands
B. Two operands
C. One operands
D. Many operands

2 Which format specifier is used for integer data type?
A. %d
B. %c
C. %s
D. %f

3 The number of bytes used by double data type in C is:
A. 2 (8) 8
B. 12
C. 6

4 a + = b is equivalent to:
A. b + = a
B. a = + b
C. a = a + b
D. b = b + a

5 Computer programs are also known as:
A. Software
B. Procedure
C. Hardware
D. Algorithm

6 Which is needed to add, edit or delete records from a table?
A. Record view
B. Datasheet view
C. Design view
D. Edit view

7 Microsoft access saves the database with the extension:
A. mdb
B. msdb
C. madb
D. txt

8 The attribute on the left hand of the arrow in a functional dependency is:
A. Candidate Key
B. Determinant
C. Foreign Key
D. Primary Key

9 Which is used to associate entities with one another?
A. Entity
B. Attributes
C. Identifier
D. Relationship

10 Create command is used to create:
A. Table
B. View
C. Report
D. Query

11 A collection of raw facts and figures is called:
A. Data
B. Information
C. Operation
D. Processing

12 Any array script should be:
A. Int
B. Float
C. Double
D. Array

13 The scope of a variable refers to its:
A. Length
B. Name
C. Accessibility
D. Data type

14 How many types of loop structure are available in C?

A. 4
B. 3

C. 2
D. 6

15 Another term for a conditional operator is:
A. Ternary
B. Binary
C. Byte
D. Iteration

A. End Select



16 The case block ends with:
A. End Select
B. End case
C. Break
D. Case else

17 Which is a possible value of flag?
A. -
B. +
C. Space
D. All of these


